EsJLQE Aoan)
acMbl
1143185 15 .8 0,los
Coad > 1los
222101 :mio 3S

Camndl Doy = Gl WS i 1402/06/31 @ (spivo o (0,95) Jlw Sl plpaw Ulolo Al Sole swgos goxo Ulowowai oM gg.090

I w9nt 8o SIS, Jxo 9 Ul -wall

M5S0 8 SW( agins dupiis ) ol VlosLw WLLS S99, wglos VLLS J=0,51402/10/28 & 90 auinds auy 59, 09:00 welw u.ul, Gl Ssle wenc goxo U wecs pogas 5> 1402/10/17 gy, 55 JIaS aloluw > oysiniin ST pwlbwly &Syir plpw Ulslo allu Ssle (swgoc goxo o\
3900 S35 paonai 15 Wlal> jeiws Loga> 55 9 13,5

1 Al i > —0

993 sl 5 0500 s Ui)lsS € Lol

1402/06/31 @ _xgiio cslo (0)93) Jiw csdlo Sld g0 g
gl Gw )3l 9 puplus Ol

LoVl aolize, ol

0yoind Slacl ozl

0300 Lited bbgo o Slacl jga> §> Gus

0030 ind Glsly Guusi

3,le0 ylw

o

% 42.58 821795922 U9 9 Uwisel wlse

) ind slacl ->
10005,S kil 3 2,ud s eis Slacl (swgac goxo duul> s saolJocas S8l pwlwly

. 8ox0 Ul Ulgacdy Lo oSsle oz pils /SBI

. gazo bl Ulgica il cal> domo pils /SBI

- g0 bl vlgicay Sl Lmo pils /B

. oo (sudiio Ulgicds wwolos iiso wle Joxo pils [SBI

1o Wind Slacl -0
t Cowl 03gs b 2y iylsS 3590 (Ilo JLuw,ys 0030 wind Slacl ¢yl

o T

I e oy e e

03000 Cakud Luid) wbol 1285443632 Olig 9 (siu> o
qL_; u':Jbg.o g 030 Cuid gy b 2259531121 wvsds wbol 10100686779 Ul esdo 5,138 alo yow
gecs wabgo e 030 Cuiud gac 4431921907 wwide gdloroxe wbol 14003237152 sabjgol Siuy by g Gudgiy Vlolw
> walbgo 0100 Cuiud gac ol 0047546492 s> o>l aow
gecs wbgo e 030 Cuiud gac wbol 1230001931 wou>sule doxo

ew b au0S G, 9 Jole oo wlazis

o

0047546492 [ESTOWESLV VW Jole a0



> @Jlg)jlg [GVIVEVY il eaw oS 2259531121 wugdes z ol RNV BWESE- TV S WIvH
: goxo Wlowowai -9
- 08,5,1,8 goxo wg.al 9 Syt 3,90 00 wiind wulled Gi)lsS 9 1402/06/31 @ (spitio Jlw Sly S, o S w g0

1bbiwe i3 2oab @ g wlgao pwlwl i sew paraxi 09 9 paraxi Jld sgw Olsao

1402/06/31 @ opivo Jlw -5 |
2105621 walls (VL) s
1141110 0,95 Sl acwlsl (VL) Sgw
0 wilgiow ©Waei
1141110 03w Juaei 0,95 Slasl aaolsl (V) Sgw
636900- (J+8 Jlw goxo) wgan plpw Sgw
0 ol (0) s9w o 5l Aloyuw Olruusi
504210 bl parazi 0,95 Slawl auwlol sgw
0 plow Ololo Bga> p M1 ,lw ;I Jlawl
2609831 varazd Jil8 seuw
20702- il gl @ Jlswl
0 wazsgxl ,lw a Jlawsl
2589129 095 0Ll awlil (0L;) seu
965000- (S, Jlw gesw) wgan plpw 39w
1624129 (o0 Wlgas Usgas bl L) 0,95 LY awlil (VL)) seuw
1091 U -ppw 58 palls (V) s
500 (b)) ppw 58 S dgw
1930000 o yow

23,8 bl Jadlosde Guyib Vlgicar 1S5 (ugr Bad 9 Sl pwpli> 5 (ugild GuyiL Vlgica syl Ulhea)d

10 owasd S S ST 255 wp> HLinY S aolse, Ulsic @ 45 Swaolse, b aolss,
wleMbl

. 095,8 Olkil Jlw 2 Wao A 4y 2 U > 00 wid Slacl goxo Wlegowai gwlwl

wlol 1285443632 ad> [CSTSCRENTCIUUWESY
lol 10100686779 wol> swlpw 8gi> Uyl slo 5,138 oy
wlol 14003237152 o> 8gi> abrjgol (Siuy @0l g Gudgss ulojlw
dol 1230001931 Bak> [EVIESN ISRV ESY
wlol 0080379990 \Bab> \_s\.o._mhb [N og.x.” pl_up.lw

0000 wiud ywlsl 9 wabgo e Slacl jpa> 5>

- i oo

oo > awul> 23Sl slhlag ol s awd> 1 S8l 60,000,000 40,000,000 (Jb)) se2> 3>
wallsl w90 4 5,000 3,000 (Jb, vguduo) ywlsl

lo o 1 J5lao 515800 el 48,000,000 30,000,000 e pubw> aieS gac 0,0 wld Slacl Jga?dﬁ

).

olo )5 > 1 J8las )18, el 48,000,000 30,000,000 (JL,) wllail @S gac 0pi0 vl Slacl jga0> 5>



olo s aul= 0 J8las 05,138, wuly 0 0 saaiisla aiaS
0 0 (UL, Osalin)oscloiz] cudgano Slo ais

:>J|9.n )gl.u.l
ol oyl did Gl s sga> 4 o @S (ugils UBules 5 of plie w5 b JuSs « Ollaolpw Sl csdo @18 oidls olyad ol ;S5 bl . aiwl ails olyesd @ 1y wSaules aob b yuize ol Sy Jol b 1,15 (sSailes b S 0llaolpw &b 51 @S’ siluus



